ERBAEER

H |EH 17 =
1 T 5:30 A REREFBEEVICEETHMTRESR

2 = 8:00 HERSHE 8:30% MEHXZASIFE (FEEE 11:00~)
3 A

4 X NZIHERESPES 10:00~1500 K BEHS
5 7K

6 K

7 =

8 T

9 =| 8:00 HIEZZHF & AHIRELAR

10 | B | 10:00 BHIL

11| %

12 | K

13 R

14 | &

15 | £ FAH140F F420ME->FOEL R FESNHLDE
16 | B 8:00 AEH#SF [ME->FOEL 2HH

17 | R

18 | %

19 | K

20 | K [10:00 EFEHESEHBRBER

21 | & 9:00 AHIRHIARE

22 | £ | 10:00 AHI%

23 | H 8:00 HIEBSF

24 | A

25 | &

26 | K 8:15 # JIZIHEABR

27 | K

28 | &

29 T

30 =] 8:00 HIEESHF

31 A 5:30 EE1THLRHR




